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[f a car travels 150 miles over a straight road in 3 hours, then its average velocity duning the trip is ...
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If flz) = (secz + ;1,-"]5 , then the derivative of f(z) is
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For the curve f(t) = -23t+25. the slope of the tangent line at point t=-1"is
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If f(z) = secx and g(z) = csc(z), then the derivative of f(z) % g(z) s
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Question # 9 of 10 ( Start time: 12:48:50 PM. 04 June 2021 )

The cotangent function is defined by Cot x= cosx/sinx
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If y=f(x} then instantansous rate of change of y with respect to x at the point x0 is given by slope of tangent line at (x0.f{x0))
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f(z)

g(z)
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If f(z) = /T and g(z) = 4,/7, then the derivative of
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W hat is the derivative 1;;:1.:|:1|'(;r2 + 1.‘3}?
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The derivative of (sin(cosz)) 5. ..c.oviiiirnnna...
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MTH101:Quiz 1 Quiz Start Time: 03;

Question # 6 of 10 { Start time: 03:59:14 PM. 04 June 2021 )

What is the derivative of 2x° sin(z®)?

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

Select the correct option

- 10x” cos(z”)

o =
O A\»

A,
Maone of these %§/

O 2x” cos(z”) \ T

o 10x° cos(z®)
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Question # 7 of 10 { Start time: 03:59:45 PM. 04 June 2021 )

Vhat is the derivative of 3cot (2x)

| hedd Roid hoid Reid Roid Roid Roid Roid Reid Roid Roid Roid heid Roid Roid Roid Loid Les

Select the correct option / w
ad

—3cosec® (2z)

O

Y —6cosec” (2z)

Mane of these

O 6cosec’ (2x)
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MTH101:Quiz 1

Question # & of 10 ( Start time: 04:00:04 PM, 04 June 2021 )

If flx)=8x thenf' (2)is_...

| hedd Roid hoid Reid Roid Roid Roid Reid Leid Roid Roid Roid heid heid Roid Lo

>
Select the correct option \(\
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5 T—
O

y
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Question # 9 of 10 { Start time: 04:00:52 PM. 04 June 2021 )

If y = x"2. then which of the following is true about it over the interval [3, 4]
MWOTE:- where x"n denctes the nth power of x.

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

Select the correct option

Itz average rate of change is 7.

Its average rate of change is 9.

Mone of these.

Itz average rate of change is &.
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Question # 10 of 10 ( Start time: 04:01:10 PM. 04 June 2021)

Ifu(t) = 4cost ,then u'(%} =....

t3d hedd Reid Loid Reld Roid Roid Roid Roid Roid Roid Roid heid Leid Roid heid Rhoid heid Rei

Select the comrect option
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MTH101:Quiz 1

Question # 2 of 10 { Start time: 04:10:37 PM. 04 June 2021 )

A function .._._be differentiable at the point of discontinuity.

| hedd Roid hoid Reid Roid Roid Roid Reid Leid Roid Roid Roid heid heid Roid Lo

fa ]
.

\
Select the comrect option @

can Q\g\\/
O

cannat
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MTH101:Quiz 1 Quiz Start Time: 04:10 PM.,

Question # 3 of 10 ( Start time: 04:10:56 PM. 04 June 2021 )

If f(r)=zsin 22, then which of the following is true about it

$3d hedd Réid Loid Reid Roid Roid Roid Roid Roid Roid hoid Rheid heid Roid Roid Roid Leid Les

1
D

Select the comrect option

70
C’Q@

&

. . . 3 . 3
Its derivative w.r.t ris rcosx” + sinx

Ol Vv

. . . E . a
o Its derivative w.r.t T is 2z cos z° + sinz°

None of these

L . 2 2 .9
. Its derivative w.r.t x is 2x° cosx” + sinx
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MTH101:Quiz 1 Quiz Start Time: 04:10 PM. 04 Ji
Question # 4 of 10 { Start time: 04:11:12 PM. 04 June 2021 ) Total

If f(z) = az + bz + ¢, then its derivative with respect tox is .............

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

O

Select the comrect option @ Reload Math Eqg
K O/\)
\

A b+e

a+ b
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MTH101:Quiz 1 Quiz Start Time: 04

Question # 5 of 10 { Start time: 04:11:30 PM. 04 June 2021 )

The dernvative of function:
fix) = -2(x-1) + {5/(x-1)} does not exist at

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

-
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1 Select the comect option A\\

? < (™S
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MTH101:Quiz 1 Quiz Start Time: 04:10 PM. 04 June 2
Question # 6 of 10 ( Start time: 04:11:47 PM. 04 June 2021 ) Total Mar

flz)
g(zx)

If f(z) = sinzand g(x) = 72, then the derivative of is

| hedd Roid hoid Reid Roid Roid Roid Roid Reid Roid Roid Roid heid Roid Roid Roid Loid Les

|

# Reload Math Equatic

Select the cormrect option
A

[z*cos(x) + 2zsin(z)]/z*

O [z®cos(z) — 2asin(z)]/z”

Mone of these. \\\

. [z®cos(z) — 2asin(z)]/z*
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MTH101:Quiz 1 Quiz Start Time: 04:10

Question # 7 of 10 { Start time: 04:12:05 PM, 04 June 2021 )

What is the derivative of sin(x) at z = 7 /2

A
Select the correct option ({;@
® Q)

t3d hedd Reid Loid Reld Roid Roid Roid Roid Roid Roid Roid heid Leid Roid heid Rhoid heid Rei

\)A\"
Mone of these V
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}C
‘s
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MTH101:Quiz 1 Quiz Start Time: 04:10 PM.

Question # & of 10 ( Start time: 04:12:25 PM. 04 June 2021 )

If(0.0) and (2.2) are any two pints on a curve then the slope of secant line through these points is

t3d hedd Reid Loid Reld Roid Roid Roid Roid Roid Roid Roid heid Leid Roid heid Rhoid heid Rei
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) Question # 9 of 10 { Start time: 04:12:43 PM. 04 June 2021 )
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) The function f{x) = |x| has no derivative at x = 0 because there is a at that point.
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